
MAT1375, Classwork2, Fall2025 
 

ID:______________________________________        Name:_________________________________________ 

Ch2. Functions via Formulas 

1. Let !:		$ → 	& be a function where $ is the _________________ and & is the _________________. If the  

formula of ! is given, then an input ___________can find an output ____________ such that ______________. 

 

2. Given a function  !(() = (! + 4( − 9. Find the value of (a) !(2); (b) !(−3); (c) !(0); (d) !(ℎ) 
 

 

 

 

3. Difference Quotient 

    Let 3 = !(() be a function. We called the expressions  
"($%&)("($)

&     or     "($)("())$()  

    ___________________ for the function ! (which represents the slope of the secant line connecting two points 

    on a function's graph, or the average rate of change of the function over a small interval [(, ( + ℎ]). 
 

4. Given a function  !(() = (! + 4( − 9. Find the value of (a) !(( + ℎ); (b) !(( + ℎ) − !((); (c) "($%&)("($)& . 

 

 

 

 

 

 

 

 

 

 

 

5. Piecewise(-Defined) Function 

    A ____________ function is a function whose ____________ is partitioned into several ______________ on  

    which the function may be defined ____________________. 

input domain output codomain

AEA be B b fla
input bllongs to

a f1 x 2 b ft 3 c flo casfeld

2,742 9 3724 13 9 05410 9 hitch

24 8 9 3 112 1
09
0 9 4444 9

differencequotient

In xh q
a ftp.T
2xhty74hxF2xhth44x 4h 9

b fixth fax 24th 4

ÉÉhÉÉÉh
2 hth 4h

piecewise domain intervals
differently

11



6. Examples of Piecewise Functions 

    (a) !(() = |(|;  (b) !(() = 9( + 1,					for	2 < ( ≤ 4;
2( − 1, for	5 ≤ (.								  

 

 

 

 

7. Consider the function described by the following formula. What is the domain of this function? Graph the 
function !. 

!(() = B
(! + 1,				for		 − 2 < ( ≤ 0;	
( − 1,				for		0 < ( ≤ 2;					
−( + 4,				for			2 < ( ≤ 5.						

  

 
 
 
 
 
 
 
 

 

8. Find the domain of each of the following functions according to the standard convention of the domain. 

(a) !(() = (2 + 4( − 9; (b) !(() = |(|; (c) !(() = √(; (d) !(() = √( − 3; (e) !(() = +$%,
$(-.. 
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